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1. $+���,-�ก��%.!"����$%���
∆∆∆∆m = ( �����������
�������
 )

- (������
��������)
-1234
B.E. = ∆∆∆∆m x 931 �

�����
 MeV
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2. $+���,-�ก��%.!"!1;!� <��"����%
.!"!��%=ก;�!����!�>?34��

MH��%!1;!�.!"2AB3��-���C�

DE4!1;!�.!"��;F         ����%��C�AXZ
AMZ

= �����������ก���
 + ������
 ����


MH
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ZM
H

��%.!"2AB3��-����"E�3 =

-+�������;�!�  = A - Z

mnDE4 ��%.!"���;�!� ��C�

��%������"E�3.!"���;�!�
��?�ก�J mn( A - Z )
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E� ���!�
�� 234-�ก

mn∆∆∆∆m = ZM
H

+ (A - Z)
AM
Z

-

E� !�����
�"#��
�$�� 234-�ก

B.E. = [ZM   + (A - Z)mn -H
A

M
Z

]x 931

�
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1. !1;!�.!" 20Ne ����% 19.9924 u
-"E�$?� B.E. M%1 B.E./A
ก+�E�3DE4
��%!1;!�.!" H = 1.007825  u
��%.!"���;�!� = 1.008665 u
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2. R%�""����3�E�����.!"   20O ��$?�
127.5  MeV -"E���%!1;!�

ก+�E�3DE4
��%!1;!�2AB3��-� = 1.007825 u

��%���;�!� = 1.008665 u
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3. ��%!1;!�.!"   
16
O  ,  

15
O  ,  

15
N ��C�

15.9949 , 15.0030 M%1 15.001 u ;��%+�3�J

-"E�R%�""�����D�4M�กB��;!� 1 ;��  !!ก

-�ก 
16
O M%1M�ก���;�!� 1 ;�� !!ก-�ก

16
O ก+�E�3DE4  ��%.!"B��;!�M%1��%

���;�!���C� 1.007825 u  ,  1.0087 u
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